AERTREEHESER 108 4H WO F R R E E K E 520 t

_ | [Bp3% 416 t ] [RE 104t ]
B AREBIREIFASEE 21 %M FhbEbh WMo AREXEIEEZEELE 7 % INBEN
B opr: B @AR)
52 | X ® . =z -
i H FEEMS | B | & E Z & oh E FEEM | B AL | & E % B
YR 4R v/ 200 g 64 b4 | BA FHRK L 10 ke 3, 024 1,620
LA% = B 250 ¢ 108 | 97 | =»#85% | F & 10 ke 2,700 | - —
ZEo O 200 g. 64 E & B 10 ke| 3,456 9, 160
ESNAE D = B 200 g 118 43 | BE RARAEE) - - = —
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— — . - - — | <Y BE A | 10 ke| 9,720 —
LAY, g 10 ke 1,080 864 | T—IVAAT & FF 8 ke| 4,860 —
PEEEIZ A T A At 10 ke 1, 404 972 |
< & = % 15 ke 1, 944 756
oy XY = B 10 ke| 1,296 |- -
VA A ® ¥ 10 ke 2, 160 972
T D OB 5 ke 1,728 | —
Aor & E 5 ke 2, 160 1, 944
e R = OIE 4 ke 3, 240 =
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Tl x iEE 10 ke 1,188 1, 080
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AL W2 5 100 g| © 156 - 86
Fo7 ax | 1 ke| 16,200 |- 5,400
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